N = 0l & At & M A

LU S

20144

H
i
2
z
n

AN S4B
|
I

Hu: H=XE
Chelr ROjQI MO X & CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %Eﬁ HRE2
S X 2 At 95,056,309 73,899,613 21,156,696
= 47,943,863
J| 507,528
= 3,332,184
&< 13,972,139
Al 29,300,595
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= 4,637,168
= 580,625
& 1,823,128
Al 4,276,616
SOl MEtortd X & 6,461,080 5,342,714 1,118,366
= 4,352,520
= 575,014
Al 1,533,546
MO (II=x) 367,234 371,995 N4, 761
=2 257,064
== 33,051
Al 77,119
301 LBt A= 367,234 371,995 N4, 761
= 257,064
= 33,051
Al 77,119
01 AR E & A %52 367,234 371,995 N4, 761
O] HOH+YXS(OIE)  367,234,0008 = 14! 367,234
= 257,064
= 33,051
Al 77,119
P = PN =D 363,447 367,753 N 4,306
= 254,413
= 32,710
Al 76,324
301 et A= 363,447 367,753 N4 ,306
= 254,413
= 32,710
Al 76,324
01 Al B & A 46 2 363,447 367,753 A4, 306
O o+ X (Has)
363,447,0002 * 14! 363,447
= 254,413
= 32,710
Al 76,324
PN RN ER=1]] 2,596 3,423 N 827
2 2,078
& 155
Al 363
301 et A= 2,596 3,423 N827
2 2,078
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1,760
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ZOHESXA(HI2Y) 1,616,440 1,363,115 253,325

1,131,508
145,480
339,452

= Hn

307 21201 A 1,616,440 1,363,115 253,325

1,131,508
145,480
339,452

= Hn

05 QIZtRIE =2 1,616,440 1,363,115 253,325
O Zohel 2sXd(HI12Y)
1,616,440,000& * 14l 1,616,440

1,131,508
145,480
339,452

= MW

ZoolgsE =X (XHA) 64,631 64,631 0

19,390
45,241

= M

307 21201 & 64,631 64,631 0

19,390
Al 45,241

2l

05 2IZt2IE =3 64,631 64,631 0

64,631,000& = 14 64,631

19,390
45,241

= N

HEZe SaHIEXE 3,000 6,000 A 3,000
2,100
270
630

= M W

301 gEtE &= 3,000 6,000 23,000
2,100
270
630

= MW

01 A28 H 6= 3,000 6,000 A 3,000

,000,000& = 3% 3,000
2,100
270
630

= MW

ZHSSHANE2E 7,396 4,059 3,337
3,697

1,110
2,589

= 0
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1,110
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01 Al 2&H =63 7,396 0 7,396
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3,697

,110
2,589
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7,842
1,008
2,353

= N W

301 LEE A 11,203 8,640 2,563
7,842
1,008
2,353

=z N W

= 11,203 8,640 2,563
O Zoots 228l &4E8N&
11,203,000 = 14 11,203
,842
,008

,353
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1,600
120
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01 M2 H 03 3,498 600 2,898

O g2 d8FA AUlA K&

3,498,000& = 14! 3,498
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186,653 174,584 12,069

42,557
144,096

= M

307 21201 & 186,653 174,584 12,069

42,557
Al 144,096
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10 AFRIS X2 X 186,653 174,584 12,069
= 0l1e)
26,500& * 200 & 186,653

42,557
Al 144,096
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+SEAUH2F(01Y) 128,999 122,856 6,143
21,930
107,069

= M

307 21201 & 128,999 122,856 6,143

21,930
Al 107,069

H

10 AFRISXI2X 128,999 122,856 6,143
O =stsady 2 (01)
128,999,000 = 1002 128,999

21,930
Al 107,069

H

SHEHSIXE(01Y) 119,392 115,915 3,477

23,878
95,514

= M

307 21201 & 119,392 115,915 3,477

23,878
Al 95,514
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10 AFRISXIE2X 119,392 115,915 3,477
O Zuey=esdye 249
119,392,000 = 100 119,392
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95,514
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580,625
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307 21201 & 890,000 840,000 50,000

580,625
35,000

AL
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Al 274,375
05 QIZtRES 890,000 840,000 50,000
O Hoessg=IN12 29
890,000,000& * 14 890,000
= 580,625
= 35,000
Al 274,375
O ZEXAIES AL =S 127,680 122,160 5,520
& 25,536
Al 102,144
307 QI2t0| & 127,680 122,160 5,520
= 25,536
Al 102,144
10 Al SR EX 127,680 122,160 5,520
[ ZOHCIEXAE SAHA =&
127,680,000 14l 127,680
= 25,536
Al 102,144
SSHHNHANFHE2H 163,725 163,425 300
& 43,911
Al 119,814
201 LBt Y| 6,900 6,600 300
01 AP 22| d| 6,900 6,600 300
0 Yx= 6,900
O ZSHHAXNHANSHEE LXE
6,900,000& = 14 6,900
307 QI2t0| ™ 156,825 156,825 0
=} 43,911
Al 112,914
05 QIZtREZ 156,825 156,825 0
[0 SSHHAXNHANSLAE 29
156,825,000& * 14! 156,825
o 43,911
Al 112,914
SOHQISHIIHFAESH(01Y) 180,000 110,653 69,347
= 36,000
Al 144,000
307 QI2t0| ™ 180,000 110,653 69,347
& 36,000
Al 144,000
10 Al S X2 X 180,000 110,653 69,347
[0 Z0HQ SHIHFTAIE 29 (01Y)
180,000,000& * 14! 180,000
o= 36,000
Al 144,000

ZOHAS ML HE X 205,641 192,601 13,040




AN SX 9 A

g Zoeg=sisd
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O QI EH X &8 AFSL TH 2 181,825 167,785
201 LBH2d| 44,305 60,085
01 At 2t 2l 36,985 52,765
0O g3t 21,375
O H0e Xsx 2A ¢
1,000& = 2,00004 2,000
O ZOoHel 2t& Xl Al& &I M2
100,000& * 25%H 2,500
O ZOoHe XE =X & A e W=
1,000,000 = 13l 1,000
O ZOoHe X+ & 202 I ME
20,000 » 250 5,000
O EIAMRINI 228 7Y 10,175
SAD EH 70,000& = 100 = 103l 700
SA EH 340,000& = 104 = 53l 1,700
SAESI EY
105,000& = 104 = 53l 525
D2iH &8 2 EUY
350,000& = 504 = 33l 5,250
ZetZeld EY 1,000,000& * 23] 2,000
O #EZAMRINIl =&Hl 100,000& » 704 700
0O 2g+¢% 11,760
O Zo ==X doIs A=Y
70,000& = 8Y = 123l 6,720
O Zoe gsXd 01dad doIas &
= 70,0003 = 8H « 43| 2,240
O T HoAAIE X aAAZ 3 A=
= 70,000& = 10¥ = 43| 2,800
0O =&l 3,850
O Zofel =& 7,000& » 58 = 110 3,850
02 =224l 7,320 7,320
03322 & WA 320
O TsXA 110,000& » 104 110
O skt EAME 50,000& * 1CH 50
O SIMNERES 80,000& = 1CH * 23] 160
O Xtg - detdl 7,000
O EYAEE 21 (|KFU, ZHIS A
L2 2EH|) 7,000
SEX 7,000,000& = 1CH 7,000
202 04l 14,400 14,400
01 = LHA YI 14,400 14,400
O HHe =X HRFA
80,000& = 5% * 2& =+ 103 8,000
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[J Hofel HOAIE BEH &0l
20,0003 = 5% » 40 4,000
[ ZOoHQl A &0
80,000& = 5% = 2 « 33| 2,400
301 L2 LS 7,620 13,400 N5,780
09 HALAHIE& S 3,780 3,800 A 20
O 8= ZOoHe e AL &K A2
60,000& = 409 2,400
O HoHe JIsZIItHe EAX Ab 24
60,000& = 139 780
[0 ZOHQl AL Xt SALAL AHI2 &
20,000& = 309 600
1M1IIEEAS 3,840 9,600 A5,760
O ZOoHe HOAAIE MEBARIE S|
20,0003 = 2% = 83| = 12& 3,840
307 glz2tol & 85,500 79,900 5,600
10 M3 2REX 85,500 79,900 5,600
0O SSHM SSA& 20T A
3,500,000& * 14l 3,500
O XXMEHe T2 29
2,700,000 * 14l 2,700
O nsde T2 29
2,700,000 * 14l 2,700
O AMZEMNY Z208 24
2,700,000& * 14l 2,700
0 =0t T 29 2,700,000 = 14 2,700
O ¥ofel 223 =208 29
2,700,000 = 14 2,700
O XNEHO =208 2
2,700,000& * 14 2,700
O ZOoHe X AlE 2z
350,000 * 9 A = 1201 & 37,800
O Zofe THE AEZz13 293
2,000,000 * 43| 8,000
O ZoHele & J1E @A 15,000,0008 * 14 15,000
O e sX sd==z28 29
5,000,000& = 14 5,000
405 XHobF S HI 30,000 0 30,000
01 XAt 2 Z FH S| 30,000 0 30,000
O ges iz 72 30,000,000& * 1CH 30,000
O EHOSA 23,816 24,816 A 1,000
202 o4dl 1,600 1,600 0
01 =L 4 Hi 1,600 1,600 0
O Z0He HOAE B8 22 9
80,000& = 2% » 7 1,120
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[ ZOoHel HoAAlE HH
20,0003 = 2% » 12¢ 480
401 Al Bl & 28I 20,216 20,216 0
01 A& HI 20,000 20,000 0
O ZOHXHZESXH 2 FAF BAAE F
HI 3 At 10,000,000& * 14l 10,000
[ ZOHQIAIE ZHISA 10,000,000& * 14 10,000
03 Al =2 THHI 216 216 0
[0 ZOHQ! TolAlE HHISA
20,000,000& * 1.08/100 216
405 TtHakH S| 2,000 3,000 21,000
01 AL EFH S 2,000 3,000 21,000
O ZoHeIxtgasXgo s Hogs8 s +¢
200,000& * 1000 2 2,000
OH o1 = XI Kl & & CH 976,193 883,225 92,968
= 284,648
< 155,215
Al 536,330
NANHEHAXNRALMEHZ S 106,666 106, 664 2
< 21,333
Al 85,333
307 21201 A 106,666 106, 664 2
< 21,333
Al 85,333
10 A3l =S X2 = 106,666 106,664 2
O XNEZOHAXZME 23 (XHAl)
106,666,000 * 1JH A 106,666
< 21,333
Al 85,333
ZOOtsSHEX = 397,006 358,945 38,061
= 277,904
< 35,731
Al 83,371
307 glz2+ol & 397,006 358,945 38,061
= 277,904
< 35,731
Al 83,371
05 RIZIRI & 3 397,006 358,945 38,061
[ Z0iots MHEXEZ 397,006,000& * 14 397,006
= 277,904
< 35,731
Al 83,371
sl szageAS N 17,897 17,313 584
< 5,369
Al 12,528
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17,897,000& * 14

=

17,897

17,897

5,369
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584

= M W

9,634
6,744

867
2,023

9,585
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9,634
6,744

867
2,023

9,585

49
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9,634,000& = 14!
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6,744

867
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= M
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12,500
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12,500
45,500

58,000

10 AtaI= X2

ES
O A -2 nSADIHA &AL
58,000,000& * 1004

H

Al

58,000

58,000
12,500
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58,000

ZOHQITHOL= X S AFAIES (01 2F)

=

100,090

20,018
80,072

92,419

7,671

307 21201 &

t

Al

100,090

20,018
80,072

92,419

7,671

10 AlRISXI2 X

O ZoHel MIt=SASAMAESH(01)
100,090,000& * 10 &

H

Al

100,090

100,090

20,018
80,072

92,419

7,671
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H

Al

70,500
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49,350

68,000
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307 2izto| A 70,500 68,000 2,500
= 21,150
Al 49,350
10 SIS XIEX 70,500 68,000 2,500
O HOCIIIESXNJMEHE2H
70,500,000& * 1J0 2 70,500
= 21,150
Al 49,350
KM ZOHQI HOAAE ASHXR 99,000 99,000 0
= 20,147
Al 78,853
307 2iz2to| A 99,000 99,000 0
= 20,147
Al 78,853
10 MMl S X EX 99,000 99,000 0
[ NMEOHQAHOALMEH2E (0] )
99,000,000& * 102 99,000
= 20,147
Al 78,853
ZOHQIDIE AL 22 ALY 32,400 31,600 800
& 8,100
Al 24,300
307 2Iz2to| & 32,400 31,600 800
== 8,100
Al 24,300
10 Ml S X EX 32,400 31,600 800
[0 HOHQl Db A &2l At
32,400,000& * 1A 32,400
& 8,100
Al 24,300
S I EEXNHE 2EAH 35,000 30,000 5,000
307 2Iz2t0| & 35,000 30,000 5,000
10 MM SXIEX 35,000 30,000 5,000
[ =ES&00 elZE e 2912
35,000,000& * 14! 35,000
AMZXHMENAIALA X XNRHMEHESH 50,000 0 50,000
= 10,000
Al 40,000
307 212t0| & 50,000 0 50,000
o= 10,000
Al 40,000
10 M3 SXEX 50,000 0 50,000
O ANMEMNLHE NHARLMESH
50,000,000& * 14! 50,000
= 10,000
Al 40,000
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45,000

46,

500

A 1,500

t

Al

1,

833,174
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260,028
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1,822,674,000& = 1
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7,350
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41
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, 160,307
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= H AL W

,822,136

239,877
393,903
301,063
887,293

1,681,

668
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595,360
352,696

63,440
179,224
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307 glz2tol & 595,360 595,360 0
& 352,696
< 63,440
Al 179,224
01 22724l 595,360 595,360 0
03azsg 249 595,360,000& * 14 595,360
=2 352,696
< 63,440
Al 179,224
dz2Y SEdzH(01Y) 388,690 382,592 6,098
= 28,207
= 77,738
Al 282,745
307 21201 A 388,690 382,592 6,098
& 28,207
< 77,738
Al 282,745
01 =L =4l 388,690 382,592 6,098
0O Z2Y EE A2z 388,690,000 * 14l 388,690
& 28,207
< 77,738
Al 282,745
dzY 243tArg(01Y) 23,000 23,000 0
&2 13,000
< 3,000
Al 7,000
307 glz2tol & 23,000 23,000 0
&2 13,000
< 3,000
Al 7,000
10 AtSI =X 2 X 23,000 23,000 0
0O 32Y SdstAY 23,000,000& = 10H A 23,000
= 13,000
< 3,000
Al 7,000
d2Y ZelA 26,400 24,000 2,400
201 Let24E] 26,400 24,000 2,400
01 At 22l 26,400 24,000 2,400
0O get=2Hl 26,400
O Z2g AEFY 242
60,000& 44004 A& 26,400
Y el L A 4,260 4,260 0
201 et 4,260 4,260 0
01 At 22/l 4,260 4,260 0
0 get=2Hl 4,260
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1002 * 5,00004 * 5&
80,0003 * 2204 &

2,500
1,760

= N H

511,948
184,875

98,122
228,951

504,592

7,356

307 glztol &

=z N W

511,948
184,875

98,122
228,951

504,592

7,356

01 =2 +7=Hl

0O 3x2g S| tEH N3

511,948,000& * 14

= N H

511,948

511,948
184,875

98,122
228,951

504,592

7,356

0y

2g &=H N

= HnH

170,707
42,677
38,409
89,621

147,864

22,843

307 g

[

5
°
o

=z N H

170,707
42,677
38,409
89,621

147,864

22,843

01 =273zl

0O 32g =38 X& 170,707,0008 = 1A

= 0N W

170,707

170,707
42,677
38,409
89,621
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Al 2,520
201 Let249] 7,200 7,200 0
J| 3,600
= 1,080
Al 2,520
1T AFR 22|l 7,200 7,200 0
OosHdEgEXNAAUN =2
7,200,000& = 14 7,200
J| 3,600
< 1,080
Al 2,520
Ot= e+ ™ XI & Xl & 5,386 9,082 A 3,696
= 2,693
< 808
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GERY SEAMY (B9 ®R)
SN HH-S(BN) - MBAY - B il HlnE2
Al 1,885
201 et 5,386 9,082 A 3,696
= 2,693
< 808
Al 1,885
01 At 22l 5,386 9,082 A 3,696
[J Ots ot & X E Hl & 5,386,000& = 14 5,386
= 2,693
< 808
Al 1,885
IFEZLNH =2 XA 429 143 286
| 300
< 39
Al 90
307 2201 A 429 143 286
J| 300
< 39
Al 90
01 2d=2L =4l 429 143 286
O JrE=d0loi A4t 28I X&
429,000& = 14 429
| 300
< 39
Al 90
QXM A2S XA 18,333 18,333 0
< 5,500
Al 12,833
307 21201 A 18,333 18,333 0
< 5,500
Al 12,833
10 A2l S X2 X 18,333 18,333 0
O 0N a22IXA  6,111,000& * 3 L& 18,333
= 5,500
Al 12,833
OtsHAetEXIZ0IH2S 21,400 0 21,400
< 6,400
Al 15,000
307 glz2tol & 21,400 0 21,400
< 6,400
Al 15,000
10 AtSI =X 2 X 21,400 0 21,400
O otsHdetdXZole 2
21,400,000& * 1 21,400
< 6,400
Al 15,000
OG230t=E A& 692,700 681,164 11,536
| 299,605
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[ 76,180
Al 316,915
ChEsits A& 43,400 43,400 0
301 et A= 3,400 3,400 0
09 SHAIAHI B A2 3,400 3,400 0
O OES3I1s g &L A-E4
50,000 * 25H 1,250
O CRIE T A 24X AdEA
50,000 = 15Y 750
O U3y 2 F8 24T SsAHS
7,000& * 100 * 23] 1,400
308 XXIEHSOIA 40,000 40,000 0
05 AIXISHHZ2ZES 2 40,000 40,000 0
O CE3ts 12 2=
40,000,000& = 14l 40,000
ZE0100HERLBRLE2A 35,000 45,000 A 10,000
& 7,000
Al 28,000
307 2iz2to| A 35,000 45,000 A 10,000
== 7,000
Al 28,000
05 QIZ2tR EF 2 35,000 45,000 A 10,000
0 220200422 LBRYRY
35,000,000 * 14! 35,000
& 7,000
Al 28,000
ChE3s fd%dsE N 20,000 28,000 A 8,000
307 2Iz2t0| A 20,000 28,000 A 8,000
10 Ml S XIEX 20,000 28,000 A 8,000
O USsIs 3es 9@ 22523 N
20,000,000& * 14! 20,000
CI2SIJIE A JHE ALY K& 18,000 8,000 10,000
307 212t0| & 18,000 8,000 10,000
10 MM S XIEX 18,000 8,000 10,000
O UESSIIE oA HEAMY
18,000,000& = 14 18,000
CI2sIIE2 XN AE SAHASE 8,400 6,720 1,680
o=} 1,680
Al 6,720
307 QI2t0| ™ 8,400 6,720 1,680
& 1,680
Al 6,720
05 QIZtREZ 8,400 6,720 1,680




2N
X ZH -
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O O2sNES=TANESAAE
140,000& » 128 » 5% 8,400
< 1,680
Al 6,720
Ct2NBL2 XA KFUH XA 17,000 18,000 A 1,000
= 5,100
Al 11,900
307 glz2+ol & 17,000 18,000 21,000
= 5,100
Al 11,900
05 RIZt2E = 17,000 18,000 A 1,000
O USNEL2NMN SSHIX
100,000& = 178 108 17,000
< 5,100
Al 11,900
CE3E EtZ2 0823 XA 40,000 28,800 11,200
< 10,000
Al 30,000
307 glz2tol & 40,000 28,800 11,200
< 10,000
Al 30,000
05 RIZHRI & 3 40,000 28,800 11,200
O G2sots S 2238 29X
40,000,000& * 14! 40,000
< 10,000
Al 30,000
2202 HLIIEL280lol = 21,010 21,010 0
S 6,310
Al 14,700
307 glz2tol & 21,010 21,010 0
< 6,310
Al 14,700
05 RIZHRI & 3 21,010 21,010 0
[0 ZS02HENELR30Ii =S
21,010,000 * 14l 21,010
< 6,310
Al 14,700
Wl B e LD GE 434,406 465,734 ~31,328
J| 299,605
< 38,145
Al 96,656
202 Odl 6,400 6,400 0
01 2401 bl 6,400 6,400 0
O O3 g8 80,000& = 4H = 209H 6,400
307 glz2+ol & 428,006 459,334 A 31,328
J| 299,605
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el OE3ots K& (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 38,145
Al 90,256
05 RIZt2IEt = 428,006 451,334 A 23,328
O OUestis 25 2 MHS=sXE 428,006
O U= X2HEH 298l
364,610,0008 * 14 364,610
J| 255,227
< 32,440
Al 76,943
O U23ItE A ZE X2 A
29,456,0008 * 14 29,456
J| 20,620
< 2,650
Al 6,186
O U23Its SHAMEIAAY
33,940,000 * 14 33,940
J| 23,758
< 3,055
Al 7,127
ChEsts 2stgs N3 10,000 10,000 0
< 3,000
Al 7,000
307 gl2tol & 10,000 10,000 0
< 3,000
Al 7,000
05 RIZHRI & 3 10,000 10,000 0
O U2st=2st2sidE
10,000,000& * 14 10,000
= 3,000
Al 7,000
2202 HEN=sAA 3,000 3,000 0
< 1,500
Al 1,500
307 gl2tol & 3,000 3,000 0
< 1,500
Al 1,500
10 A2l =S X2 X 3,000 3,000 0
0 Z2S028H&dnsEX& 1,000,000& * 3% 3,000
< 1,500
Al 1,500
Ch2stots == 01X& 16,000 0 16,000
307 glz2tol & 16,000 0 16,000
10 A3l =X 2 X 16,000 0 16,000
O CG23ts A== 01X&
16,000,000 * 14l 16,000
ChE3E SANE2E X2 15,000 0 15,000




AN SX 9 A
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& UR3IIEs N (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 15,000 0 15,000
05 QIZtR ES 15,000 0 15,000
O CE3Is SXNtF2IXE
200,000& = 753] 15,000
ChEshIFs0IFsSNEHE 2SR 11,484 0 11,484
& 3,445
Al 8,039
307 2iz2to| A 11,484 0 11,484
& 3,445
Al 8,039
05 QIZ2tRE 2 11,484 0 11,484
O CEIFs0157&eHEHe2ESAE
319,000 » 369Y 11,484
& 3,445
Al 8,039
ALSINESSSXEHY 540,351 88,200 452,151
= 347,456
& 51,868
Al 141,027
INEINsLSXA 20,000 88,200 A 68,200
307 2Iz2t0| & 20,000 88,200 A 68,200
05 QIZ2tR EF 2 20,000 88,200 N 68,200
O IIEIIsLdsXSE 20,000,000 * 14! 20,000
ALINAEXNSFHAEHS S 83,950 0 83,950
= 41,975
& 12,592
Al 29,383
307 2iztol & 83,950 0 83,950
= 41,975
& 12,592
Al 29,383
05 QIZtR E S 83,950 0 83,950
O AL EXNHEHSH 83,950,000& * 14! 83,950
= 41,975
= 12,592
Al 29,383
olols=E XNEAY 436,401 0 436,401
= 305,481
= 39,276
Al 91,644
307 QI2t0| ™ 436,401 0 436,401
= 305,481
=} 39,276
Al 91,644
05 QIZ2tE 2 436,401 0 436,401
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
[J Otol=sS K& At 436,401,000& = 14 436,401
= 305,481
< 39,276
Al 91,644
SHE2IHE XA 364,340 334,893 29,447
= 2,688
J| 114,880
< 54,778
Al 191,994
HASSHRR2IEXA 360,980 330,293 30,687
J| 114,880
= 54,576
Al 191,524
SFRERIOIEXEUE S Z 40,000 26,000 14,000
< 12,000
Al 28,000
301 et a3z 40,000 26,000 14,000
< 12,000
Al 28,000
01 AR 2Z A 53 40,000 26,000 14,000
0 B2Q)ERE Hetes2
2,000,000& = 209H 40,000
< 12,000
Al 28,000
HASSRLIISNEAA 4,780 4,380 400
201 Let2d] 1,000 0 1,000
01 At 22l 1,000 0 1,000
O egx=z 1,000
O 22 UEsn #4848 g g3
500,000& = 23l 1,000
202 04l 1,980 1,980 0
01 = LH 4 bi 1,980 1,980 0
O SFINEHRFE 20,0008 = 3H + 33 1,980
301 et d = 1,800 2,400 A 600
09 HALAHI E& S 1,800 2,400 A 600
0O 8220 NEgstn HFAI Ad24
60,000& = 10¥ = 33l 1,800
StREEIIESIM st 3| 10,800 23,600 A 12,800
< 3,240
Al 7,560
301 ger2d=s 10,800 23,600 A 12,800
< 3,240
Al 7,560
01 MEI2EZE+05l= 10,800 23,600 A 12,800
O st22It=stMst=xEH 100,000& = 108H 10,800
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M 2901y X
S9: HASSRRIEX Y CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
[ 3,240
Al 7,560
SHERIIE 8sdHEH| 118,800 104,000 14,800
& 17,820
Al 100,980
301 LBt A= 118,800 104,000 14,800
&< 17,820
Al 100,980
01 Al E & A 462 118,800 104,000 14,800
0 s2eisasaay
100,000 = 297% « 4& 118,800
& 17,820
Al 100,980
SHEQIIEXE X2 12,000 12,000 0
& 3,600
Al 8,400
301 Bt A= 12,000 12,000 0
& 3,600
Al 8,400
01 Al E & A 462 12,000 12,000 0
[ SR @FSRXAS 2,000,008 * 64| CH 12,000
= 3,600
Al 8,400
SHE2II=XE 4| 31,000 22,233 8,767
& 9,300
Al 21,700
301 et A= 31,000 22,233 8,767
= 9,300
Al 21,700
01 Al B & X 262 31,000 22,233 8,767
O StE2IIE X EH W | 151,219& = 2059 31,000
= 9,300
Al 21,700
SHEDIIEXE 143,600 132,480 11,120
J| 114,880
= 8,616
Al 20,104
301 LBt A= 143,600 132,480 11,120
Jl 114,880
= 8,616
Al 20,104
01 AISIE & A %52 143,600 132,480 11,120
0 #2205 0tS Y|
70,000& = 160Y = 12& 134,400
J| 107,520
= 8,064
Al 18,816
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J| 644
Al 644
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Al 644
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17,593,000& = 1H 17,593
J| 8,797
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EX: 22X 24
M HAUBSUSH
ol HAE=XEX (B9 ®R)
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SA BB (3H) - NRAY - B Ol At o %@i HRE2
J| 11,200
Al 16,800
307 gizto| A 28,000 40,000 A 12,000
J| 11,200
Al 16,800
10 Al EXEX 28,000 40,000 A 12,000
0 32E23EX S 28,000,000& * 14! 28,000
J| 11,200
Al 16,800
HAESOle E2sA 4,329 9,000 N4, 671
J| 1,732
Al 2,597
307 212t0| & 4,329 9,000 A4 671
J| 1,732
Al 2,597
10 At S X E 4,329 9,000 N4, 671
O 3AEES0I2I XS 481,000& * 9JH 4,329
J| 1,732
Al 2,597
HAEG NS00I A& 171,417 161,000 10,417
= 85,708
= 25,713
Al 59,996
307 2iz2to| A 171,417 161,000 10,417
= 85,708
= 25,713
Al 59,996
10 Ml S X EX 171,417 161,000 10,417
O s#Ad8 5012t 0l&
171,417,000% * 14l 171,417
= 85,708
= 25,713
Al 59,996
HAE BS 15,310 12,630 2,680
= 1,885
& 1,106
Al 12,319
HAEKHSEEG 10,460 7,060 3,400
201 Bt 2,000 3,200 A 1,200
01 AP 22| H| 2,000 2,000 0
O dbt=2H| 2,000
O suZEZEd | =22 M
200,000& = 104l 2,000
301 et A= 8,460 3,860 4,600
09 HAIAHIBEAZ 7,460 2,860 4,600
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O HA2EXNERS DSEASX AL 4
60,000& = 209 1,200
0O |oistd 2A2s 2403
7,000& = 302 * 63l 1,260
O stu=s ol ool 1,000,000& * 53] 5,000
1M1IIEELES 1,000 1,000 0
0O 348 Rollgd dAEZN=S
50,000& = 203l 1,000
HAEURNSZZANLG2SI N 3,770 3,770 0
= 1,885
< 566
Al 1,319
307 21201 A 3,770 3,770 0
= 1,885
< 566
Al 1,319
10 A2l =S X2 X 3,770 3,770 0
0 #AURHEBSZASGSY
3,770,000 = 14 3,770
= 1,885
< 566
Al 1,319
st ¢ sgs N 1,080 1,800 AT20
< 540
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